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Practice 5 ' Lessons 2-1 through 2-3
Using Deductive Reasoning '

In Exercises 1 and 2, undetline the hypothesis once and the conclusion twice.

1. Ifzﬁ intersects ﬁ)’ at X, then A4, X, and C are coplanar.
2. | can ride my bicycle if I finish my homework.

3. Classily the given sfatement as true or false. Then write the converse
of the statement and classify the converse as true or false.

If AM = MB, then M is the midpoint of AB. __

M s mdot o AT then AM=MEB
!'_ Justify each statement with a property of equality or congruence.
' 4. 121 = £2and £2 = £3,then £1 = £3. __ICANS.

5. RO = RO /\ZQ \

6. Ifx +y =7andy = z,thenx + z = 7. b 3t

7. fm41 = m25, thenmsS = me1. _ S UMM |

8. fmsl = me2, thenmsl + me3 = m-sz + mL3. Ad . f\)rm:),

e

In Exercises 9-13, name the definition, postulate, or theorem that
’ justifies the statement about the diagram.

9. If GKis the bisector of £ FGJ, thenm£3 = im L FGI.

¢~ Th
10. FK + K7 = F1 500 A dd'n B
1. me1+me2 =180 £ ACC0
12. If K is the midpoint of FJ, then FK = 1FJ. _
13. If 23 = 24, then GRbisects £ FGJ.

14. Complete the proof.
Given: £ ABC = £ EFG; BDbisects £ ABC; A
FHhbisects LEFG. s
Prove: LDBC = £/ HFG
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Proof:
Statenments Reasons

. (7

_Muld, o

. LABC = LEFGorm£LABC = mLEFG
imL ABC = im s EFG

. B_D) bisects £ ABC; FH bisects 2 EFG.

. mLDBC = 3mL ABC; mLHFG = im s EFG
mLDBC = m£HFG or LDBC = £ HFG
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